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NOELAS LU AATEIIE I T4 Apl

NANTUNIANNITNI deeeszuy  Aeudssluannng (2.1)

x = f[x(t),u(t),t] (2.1)
1 < ° e" o v o al d‘

ALUNNE D N1IANUIUUNAYTYIUALAN U A WA 109A 97 IHANTTOUS TN

wansagluannig (0.2)  Hauiavesiigs

I = e[x(tf),tf]+T¢[x(t),u(t),t]dt (2.2)

2. przAUIMETYNLIATLAN U IWMNIEHIga

Aviua e dunanaasialasu (Hamilton's principal function) ufaunnei (@.3)
te
Viu[x(tp),to] = Hlljin{l} = ngn{e[x(tf),tfﬁI¢[X(S),U(S),S]d5} (2.3)
1 t ‘0

e[x(tf)’tf]
{u(s),t, <s<t;}

Lﬁl@ VH [x(tr )>tf]
U,

Tauns R alUsunsunad® (Sage was White, 1977)  iazlaannisuatiasu-anial

(Hamilton-Jacobi equation) Aduansatluannns (v.4)
-8V, [x(1),t]/at) = min ¢[x(t),u(t),t] +[OVy [x(1), t]/x] £[x (), u(t), 1]
(2.4)
awiunn )t e[ty t,]
anWarfduuaialadion (Hamiltonian function) %qttﬂmq@gﬂﬁaunwﬁ (.5) (deunu
avluaunisuafiaduantall azlduanisiivansegluannis (2.6)
H[x(),u(t),dVy /x] = ¢[x(t),u(t), t]+[0Vy [x(t), t]/ox] f[x (1), u(t),t]

(2.5)
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-(0Vy[x(1),t]/et) = min {H[x(t),u(t),0Vy /0x]} (1.6)
RINANNT (1.6) ATWIUIN fiwmz{n&lryﬁmmuauﬁmm:ﬁqm W) azdeevinlifeiiu

weialmaufidndesiige  wazvinlviaunis (2.7) duess

LBV, [x(1),t1/8t) = d[x(t),u’ (1), t]+[BVy [x(1),t]/xT" f[x(t),u (1),t]

(2.7)
nnatseenaldauALILIUuEUR
1. wawjususnsdliAaus@saniuble A
1.1 WULRNASINNAGIAAIEATUBINI UYL
i] [-H'Cc-K,, -H'CK, H'Y|[q] [H’
g l=| L 0 0 [[g]|+] 0 |u
A TY' O TY'K, 0 ||A] |0
[-H'C-K, -H'CK, H'Y| [H'
x=| I 0 0 |x+| 0 |u
-TWA -lﬁYTKpp 0
(1.8)

12 A997HANITOUS

] = (1/2)AT(oo)r;‘A(oo)+(1/2)°f[xTQx+uTRu+2szu]dt (9.9)

ij@ Q _ [OQI annil

nxn nxn

[ | ]
pocm
nxn

war Q, WhuwsdndiuansAndasiminzesAtauBanaIas L

aaa

LaZANIGY  TIHNRA 2nX2n

R duwsindiudadrdssiminzestunadyyiniaugy u o uazidy
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S Wumsindrugaindanimin  dwsunafidszneudaeany
RANAIATIAIUMUIIUATANNITY TLTUIATBNA YT IIALIAN U R
137 2nXn

L Fuwsmndiuansindaniminzesinauianans  ARaainnng

UszantuAmnSmafueaessuy Nnanetius

' - [l < « v < o ' o

Anag lurndursanatgavineniaalesesaunis (1.9) ansadmglud - o
waaeluannis (2.10)

xTQx +u'Ru+2x"Su=x"(Q-S'R'S)x +(u+R"'Sx)"R(u +R"'Sx)

(2.10)

r . - o . % . o

dlasannAlunaduresgunis (1.9) fuaasetluannis (2.10) siaadudiingn
ndrgud  saiusazlddenmunlunindenddeniiwminianisds (Q-S'R7S) > 0 uaz

weiand R savdlumasndiinnnndngue

1.3 A funanaaauLatasy

iV [x(1),t] dusinanfiaridunaenadesivannisualamanlad  imazld

AtesndntesnrrriansrausiiulUmngnnig (2.11)

Vi [x(0),0]

min {(1/2)A" ()T, A ()

+ (l/Z)T[XTQX +u’Ru +2x"Su]dt}

rrlleln {J} (2.17)

e V. [x(w),0] = (1/2)AT(0)"A(0)

U, = {u(s),0<s< o}
X = %(8)
u = T(s)

14 Wardduualaladiu

anaunis (9.11)  auntsendunaialadevasdulymingunisi (2.12)

H[x(t),u(t),dV, /ox]= (1/2)x"Qx +(1/2)u"Ru+x"Su+ (OV, /ox)" %
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(2.12)
o G i o 4 K o
flasannnsaddieidunaialadioy  aAuaundtyinauANiulnzign
FafusFeanAtes X way (9Vy /ox)" Weunuaslugunis (1.12)  ludouzes x duanniem
wildannaunis (.8 widmiugau(aV, /ox)T widesiwaniinpn  sazuansiall

mvua e T unanaaswaiamuiuaeannisi (2.13)

T, 0 OfH(q) 0 O T, T, O
Vy[x(1),t] = (1/2)x"|T, T 0 0 P OO0 I Of
o oI o orTr, o o0 I
(9.13)
azla
dVv, [x(t),t]/dt
[H(q) 0 © H(q) 0 O
= (2)x"T7| 0 0 0lTx+x'T;| 0 P 0 [Tx
RGO 0\ 0 o oI,
= 8V, [x(1), t)/Bt +(0Vy, [x(1),t]/0x)" %
[6H(q)/ot 0 0O
= (1/2)x"T, 0 0 0|T,x
0 0 0
[6H(q)/ox]" 0 0O
+1(1/2)x Ty 0 0 0|T,xx
0 0 0
H(q) 0 O
+x"T;| 0 P 0 |T)x
o oI
Fath
H(q) 0 0 oH(q)/ot 0 0
(Y2)x'TI| 0 0 0|Tx = (1/2)x'Ty 0 0 0|T,x
0 00 0 0 0
[6H(q)/ox]" 0 O
+(12)x"T; 0 0 O |Txk
0 0 0

(2.14)
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%79
[6H(q)/ox]" 0 O H(q)-cH(q)/at 0 0
i 0 6 G(Txk=x"T 0 0 0|T,x
0 0 0 0 0 0

(2.15)
unuATse 7 aeluannis (2.12) a1y
H[x(1),u(t), 8V, /ox] = (1/2)x"Qx +(1/2)uRu +x"Su+(8V/dx)" %
= (1/2)x"Qx +(1/2)u’Ru+x"Su
[0H(q)/ox]" 0 O

+ (1/2)x™T, 0 0 O |T,xx
0 0 0
H(q) 0 0
AT P 0 [T,x
o oI

= (1/2)x"Qx +(1/2)u"Ru +x'Su
H(q)-0H(q)/ot 0 0

+ (1/2) 20 0 0 0|T,x
0 0 0
H(q) 0 0
RN"UNIVERSITY 0 |T,% (1.16)
0o o I

AINUUAUNUAT X AINANNTT (1.8) a9 IUANNT (1.16)  UWAMNNNTANINBLIUT-

LN (partial differentiate) Uiy u  wastvALMWIALAUEAZ 1A

SH[x(t),u(t),dV,, /ox]/ du

0
TnI_I(q)TnI_I(Cl)-1
u'R+x"S+x"| T,,H(q)T,, H(q)"
0

CLoadla
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T,,H(q)T,,H(q)"
uTR = .XTS-XT T12H(Q)T11H(q)-]
0

u 2 0

= -R'H'(q)T,H(q)B"T,x-R"'S™x (2.17)
fa BT = [I 0 0]
anaunns (1.17) waglddyyiuamgn ut Avinlassaflanssousidnieni

4‘ (5 o
qn FuduilmunoreanisAa

15 n13RTIRdaUaxNnITLaNamu-anlall

dewnurndtynyiniauay u” Aduanliadluannis (.7)  aLld

HIx(t),u" (£),8V,/x] +(8Vy [x(1),1]/at) = 0
= (1/2)x"Qx
+(1/2)x" (S+T,"BHT, H" )R (ST +H'T,HB'T, )x
+xTSR™ (-H'T,,HB"T,x - S"x)
oH(q)/et 0 O
+(1/2)x"T, 0 0 0|T,x

0 0 0
H(q)-éH(q)/at 0 0
+L(/2)xTTy 0 0 0|T,x
0 0 0
H(q) 0 O
+xTT;| 0 P 0 |Tx
0o o0 I/
= (1/2)x"Qx

+(1/2)x" (S+T,"BHT, H" )R (S" + H'T,HB'T; )x
+x TSR (-H' T, HB"T,x - ")

H 0 0
+ (1/2)X"T7| 0 0 0|T,x

0 00
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+x"|-T,HT,H'C+P -T,HT,H'CT;T, T,HT,H'Y |x

Y TITYE, 0
[T HT, K., +T,HL, 0 0

+xT| -T,HT,K,, +T,HT,, 0 0lx

I 0 0

[0 -T,HT,H'CK_ +T,HT, H'CT;T, 0
+x"|0 -T,HT,H'CK,, +T,HT,H'CT,T, O0|x

0 0 0
THI_ITHI—I-1
+xT| T,HT, H" |R(S" +H'T, HB'T, )x
0
Avuali K, = T T,
L = IT,T,
j s

1 = 1Ntnxn

v

. ALl

H[x(t),u” (1),0Vy /0x]+ (8Vy [x(1), t}/t) = 0
= (1/2)x"Qx+(1/2)x" (S+T, Bt )R (ST +1t,,B'T,)x

+x "SR (-t,,B"T,x -S"x)
H 00
+ (1/2)x"Ty| 0 0 0|T,x
0 0 0
—t”t“C 'tnCle tntuY
#xT | -Toeti{CH+P  <T5€T, Ty,t,¥Y |x
'tntnYT 'tnYTle 0
tlltll
X" | Tty R*(ST +t,B'T,)x
0
= (1/2)x"Qx-(1/2)x" (S+T, Bt )R™(S" +1¢,,B"T;)x
H 00
+ (1/2)x"T;| 0 0 0|Tyx
0 00
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-C 00
+xTT§[0 0 0|T,x

0 00
0
0 [x
0

o O O

0
+xT| P
0

= (1/2)x"Qx-(1/2)x" (S+T, Bt )R™ (S™ +1t, BT, )x

0 P O
+(1/2) x"|P 0 0|x
0 0 0
= 0 (2.18)

arnaunis (1.18) Muanaliiudn  dynunamuanfiauanild andudriuang

fign frieidiaaunis (1.19) s
0O P O
P 0 0[+Q-(S"+t,B'T,)"R"(S" +1,B'T,) = 0 (9.19)
0 0 O

' '3 aa = = o
2. winusuFnIdiAnTaNuIuAANIUETAT

2.1 WUUSNSBINNAUAAAATUBINYUYUEUG

i1 [CHiE aKenciidfEln®edey Y || @ H

(;1 Inxn O O O q O

~ = T T ~ it "

A TY IY'K, 0 0 A

K, TY LYK, O 0 K,
1 -1 s - =

-H'C-K, -H'CK, H'Y H'Y; H'

, I... 0 0 0 o i

X = .
Y IY'K, o o | |o]
LY, LYK, O 0 0

2.2 AITTHANIIOMY

T = (1/2)AT ()M A() + (YR, ()T, K ()

+(1/2) [[x"Qx +u"Ru +2x"Su] dt (2.21)
0
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2.4 WarduwaRalndiau

nxn
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AnAaInNNg

AnA’INN1g

pig ((1/2)AT ()T, A(20) + (1/2)K, " (90)T, 'K ()

+ (1/2)T[XTQX +u’Ru +2x"Su]dt}

min{T3

(7.22)

H[x(t),u(t),dV, /ox]= (1/2)x"Qx +(1/2)u’Ru + x'Su+ (0V, /ox)T x

anWeTundnaacLalasuiinandluannis (3.24)

ey X adluannng (2.23)

Vi [x(t),t1= (1/2)x" T,

3

¥
wa T, =

o O O

T
praviuas 1o

!

S ©

o - O O

H(q)

- O O O

o © v O

(2.23)

iazunuAn (OV, /ox)"

(1.24)
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(1/2)x"Qx + (1/2)u"Ru +x"Su +(dV/x) " %
(1/2)x"Qx +(1/2)u"Ru+x"Su

H[x(t),u(t),0Vy /6x]

[0H(q)/ex]" 0 0 O
00 O
+ (1/2)x'TS T, xx
(/ ) 0 O O O 0
0 00O
H(g) 0 0 O
0O P 0 O
+xTTOT 5 T%
0 0 T, 0
0o 0 0 T,
= (1/2)x"Qx +(1/2)u"Ru+x"Su
H(q)-éH(gq)/et 0 0 0
0 00 0
+(1/2)x Ty T,x
(1/2)x" T, 0 00 ol®
0 00 0
H(q) 0 0 0
o P 0 0
Y 3 1,x
0 0 T 0
o 0 0 I,
(1.25)

AMNTIASUNUAT % AnaNNIT (1.20) aalugunash (2.25)  wRaInIIan inalsu-
1anUN9daU (partial differentiate) WeuAL u - wazleAuIwinAuAudazla

SH[x(t),u(t),V, /ox]/du = 0

T]IH(q)THH(Q)-l

oy . (T, TIZH(q)TllH(q)-I

0
0
aele

THH(Q)THH(qyl
UTR = _xTS_xT TIZH(q)THH(q)-l

0

0

u = u

= -R'H'(q)T,H(q)B"T,x- R'STx (%.26)
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fe BT = [I 0 0 0]

25 naIATaaaUaNn1sLaRanu-anlail

FeunuAndryryruauau u” isnadldaluannis (07)  azli

H[x(t),u” (),8V; /0x]+(0Vy [x(1),t)/3t) = 0

= (1/2)x"Qx
+(1/2)x" (S+T,"BHT, H")R" (ST + H' T, HB'T, )x

+x "SR (-H'T,;HB" T,x - S"x)
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CONTINUOUS SYSTEM robot
"simple Articulated robot

STATE x1 x2 x3 x4 x5 x6

DER dx1 dx2 dx3 dx4 dx5 dx6
INPUT t1 2 t3

OUTPUT p1 p2 p3 v1 v2 v3 al a2 a3 a4 ab ab a7 a8 h1 h2 h3 h4
OUTPUT kf1 kf2 kf3

time t

"abbreviate notation

s1=sin(x1)

s2=sin(x2)

cl=cos(x1)

c2=cos(x2)

s12=sin(x1+x2)

c12=cos(x1+x2)

"constant parameters

al=m2*|1*lc2
a2=(j1+(m1*lc1*Ic1)+(m2*11*11)-j1p)
a3=(j2+(m2*Ic2*Ic2)-2p)
ad=(j1+(m1*Ic1*IcT)+(mM2*11*11)+j2+(m2*Ic2*Ic2))
a5=(j2+(m2*Ic2*Ic2))

ab=j1p+j2p+|3

aZ7=(m1*lc1*g)+(m2*11*g)
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a8=m2*Ic2*g

"inertia matrix elements

h11=a4+2*al*c2

h12=ab+al*c2

h21=h12

h22=ab
h33=a2*s1*s1+a3*s12*s12+a6+2%al*s1*s12
delta=(h11*h22)-(h12*h21)

"viscous-friction force

kf1=75

kf2=10

kf3=1

fv1=kf1*x4

fv2=kf2*x5

fv3=kf3*x6

"temporary variable
temp11=(k1*t1)-fv1+(2*a1*s2*x5*x4)+(al*s2*x56*x5)
temp12=((0.5*a2*sin(2*x1))+(0.5*a3*sin(2*(x1+x2)))) *x6* x6
temp13=(al*sin((2*x1)+x2))*x6*x6
templ4=(a7*s1)+(a8%*s12)
temp21=(k2*t2)-fv2-(al1*s2*x4*x4)
temp22=0.5*a3*sin(2*(x1+x2))*x6*x6
temp23=(al1*s1*c12*x6*x6)+(a8%*s12)
temp31=(k3*t3)-fv3-(a3*sin(2*(x1+x2))*x6* x5)
temp32=-(2*al*s1*c12*x6*xb5)
temp33=-(((a2*sin(2*x1))+(a3*sin(2*(x1+x2))))*x6* x4)

temp34=-(2*al*sin((2*x1)+x2)*x6*x4)



templ=temp11+temp12+temp13+temp14
temp2=temp21+temp22+temp23
temp3=temp31+temp32+temp33+temp34
"state equaions

dx1=x4

dx2=x5

dx3=x6
dx4=(1/delta)*((h22*temp1)-(h12*temp2))
dx5=(1/delta)*((n11*temp2)-(h21*temp1))
dx6=temp3/h33

‘convert radians to degrees
pp1=((180*7)/22)*x1
pp2=((180%*7)/22)*x2
pp3=((180*7)/22)*x3
w1=((180%*7)/22)*x4
w2=((180*7)/22)*x5
w3=((180%*7)/22)*x6
aal=((180%*7)/22)*dx4
aa2=((180*7)/22)*dx5
aa3=((180*7)/22)*dx6

‘output

pl=x1

p2=x2

p3=x3

vi=x4

v2=x5

v3=x6
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h1=h11
h2=h12
h3=h22
h4=h33
‘nominal values
11:1

12:1
c1:0.5
c2:0.5
1:10
2:10
1.0.5
1p:0.01
j2:0.5

j2p:0.01

k1:40
k2:20
k3:40
g:9.81
x1:0
x2:0
x3:0
x4:0
x5:0
x6:0

END
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CONTINUQUS SYSTEM contr

"adaptive controller for articulated robot

INPUT p1 p2 p3 v1 v2 v3 pd1 pd2 pd3 vd1 vd2 vd3 ad1 ad2 ad3
OUTPUT t1 t2 t3 perrl perr2 perr3 verr1 verr2 verr3
OUTPUT u1 u2 u3 aal aa2 aa3 aa4 aab aab aa7 aa8 kff1 kff2 kff3
STATE al a2 a3 a4 a5 a6 a7 a8 kf1 kf2 kf3

DER dal da2 da3 da4 da5 da6 da7 da8 dkf1 dkf2 dkf3
"abbreviate notation

cl=cos(p1)

c2=cos(p2)

s1=sin(p1)

s2=sin(p2)

c12=cos(p1+p2)

s12=sin(p1+p2)

s212=sin((2*p1)+p2)

"errors

perr1=p1-((22*pd1)/(7*180))
perr2=p2-((22*pd2)/(7*180))
perr3=p3-((22*pd3)/(7*180))
verr=v1-((22*vd1)/(7*180))
verr2=v2-((22*vd2)/(7*180))
verr3=v3-((22*vd3)/(7*180))

perr1d=((180*7)/22)*perr1

perr2d=((180*7)/22)*perr2

perr3d=((180*7)/22)*perr3

verr1d=((180%7)/22)*verr1
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verr2d=((180*7)/22)*verr2
verr3d=((180*7)/22)*verr3
errl=(verr1)+(t12*perr1/t11)
err2=(verr2)+(t12*perr2/t11)
err3=(verr3)+(t12*perr3/t11)

“controller variables
dar1=((22*vd1)/(7*180))-((t12*perr1)/t11)
dar2=((22*vd2)/(7*180))-((t12*perr2)/t11)
dar3=((22*vd3)/(7*180))-((t12*perr3)/t11)
ddar1=((22*ad1)/(7*180))-((t12*verr1)/t11)
ddar2=((22*ad2)/(7*180))-((t12*verr2)/t11)
ddqr3=((22*ad3)/(7*180))-((t12*verr3)/t11)
y11=2*c2*ddgr1+c2*ddqr2-s2*v2*(dar1+dqr2)-s2*v1*dqr2-s212*v3*dqr3
y12=-(s1*c1*v3*dqr3)

y13=-(s12*c12*v3*dqr3)

y14=ddaqr1

y15=ddqr2

y17=-s1

y18=-512
y21=c2*ddgr1+s2*v1*dgr1-s1*c12*v3*dqr3
y23=-(s12*c12*v3*dqr3)

y25=ddqr1+ddqr2

y28=-s12

temp1=s212*v1*dqr3+s1*c12*v2*dqr3
y31=2%s1*s12*ddqr3+s212*v3*dqri+s1*c12*v3*dqgr2+temp1
y32=s1*s1*ddqr3+s1*c1*v3*dqgri+s1*c1*v1*dar3

temp2=s12*c12*v1*dqr3+s12*c12*v2*dqr3



y33=512*s12*ddqr3+s12*c12*v3*dqr1+s12*c12*v3*dqgr2+temp2
y36=ddqr3

"adaptive equations
dal=-(r1*t11*t11*(y11*err1+y21*err2+y31*err3))
da2=-(r2*t11*t11*(y12*err1+y32*err3))
da3=-(r3*t11*t11*(y13*err1+y23*err2+y33*err3))
dad=-(r4*t11*t11*(y14*err1))
dab=-(r5*t11*t11*(y16*err1+y25*err2))
dab=-(r6*t11*t11*(y36*err3))
da7=-(r7*t11*t11*(y17*err1))
da8=-(r8*t11*t11*(y18*err1+y28*err2))
dkf1=-(r9*t11*t11*v1*err1)
dkf2=-(r10*t11*t11*v2*err2)
dkf3=-(r11*t11*t11*v3*err3)

"output

ul=(kv1*verrl)+(kp1*perr1)
u2=(kv2*verr2)+(kp2*perr2)

u3=(kv3*verr3)+(kp3*perr3)

t1=(y11*al+y12%a2+y13*a3+y14*ad+y16*ab+y17*a7+y18*a8+kf1*v1-ul)/k1

t2=(y21*al+y23*a3+y25*ab+y28*a8+kf2*v2-u2)/k2
t3=(y31*al+y32*a2+y33*a3+y36*ab+kf3*v3-u3)/k3
aal=al
aa2=a2
aa3=a3
aad=a4
aab=ab

aab=ab
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aa’=a7
aaB8=a8
kff1=kf1
kff2=kf2
kff3=kf3
"nominal values
r1:0.2
r2:0.5
r3:0.2
r4:0.5
r5:0.2
r6:0.2
r7:10
r8:5

r9:5

r10:1
r11:.0.2
t11:4
t12:5
kv1:1600
kv2:1600
kv3:1600
kp1:2000
kp2:2000
kp3:2000
k1:40

k2:20

154



165

k3:40

END

CONTINUOUS SYSTEM path

"Path generation for articulated robot
OUTPUT pd1 pd2 pd3 vd1 vd2 vd3 ad1 ad2 ad3
TIME t

pd1=30*(1-COS(2*22*1/7))
pd2=30*(1-COS(2*22*1/7))
pd3=45*(1-COS(2*22*1/7))
vd1=(30*2*22/7)*SIN(2*22*/7)
vd2=(30%2*22/7)*SIN(2*22*1/7)
vd3=(45%2*22/7)*SIN(2*22*1/7)
ad1=(30%(2*22/7)*(2*22/7))* COS(2*22*1/7)
ad2=(30*(2*22/7)*(2*22/7))*COS(2*22*t/7)
ad3=(45*(2*22/7)*(2*22/7))* COS(2*22*t/7)

END

CONTINUOUS SYSTEM cost

"performance index for articulated robot

INPUT perr1 perr2 perr3 verr1 verr2 verr3 ul u2 u3 h1 h2 h3 h4
INPUT a1 a2 a3 a4 ab a6 a7 a8 aal aa2 aa3 aa4 aab aab aa7 aa8
INPUT kf1 kf2 kf3 kff1 kff2 kff3

STATE x

DER dx

TIME t

"temporary variable



tem1=g11*SQR(verr1)
tem2=g22*SQR(verr2)
tem3=q33*SQR(verr3)
tem4=q44*SQR(perr1)
temb5=q55*SQR(perr2)
tem6=q66*SQR(perr3)
tem7=r11*SQR(u1)
tem8=r22*SQR(u2)
tem9=r33*SQR(u3)
error1=(t11*verr1)+(t12*perr1)
error2=(t11*verr2)+(t12*perr2)
error3=(t11*verr3)+(t12*perr3)
dif1=rr1*SQR(aal-al)
dif2=rr2*SQR(aa2-a2)
dif3=rr3*SQR(aa3-a3)
dif4=rr4*SQR(aa4-a4)
dif5=rr5*SQR(aab-ab)
dif6=rr6*SQR(aab-ab)
dif7=rr7*SQR(aa7-a7)
dif8=rr8*SQR(aa8-a8)
dif9=rr9*SQR(kff1-kf1)
dif10=rr10*SQR(kff2-kf2)
dif11=rr11*SQR(kff3-kf3)
dif12=h1*SQR(error1)
dif13=h3*SQR(error2)
dif14=h4*SQR(error3)

dif15=2*h2*error1*error2
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dif16=p11*SQR(perr1)

dif17=p22*SQR(perr2)

dif18=p33*SQR(perr3)
temp1=tem1+tem2+tem3+tem4+tem5+temB+tem7+tem8+tem9
temp2=(dif1+dif2+dif3+dif4+dif5+dif6+dif7+dif8+dif9+dif10+dif11)
temp3=(dif12+dif13+dif14+dif15+dif16+dif17+dif18)
"sum and integrate of cost functions

dx=temp1

sum=temp2+temp3

‘nominal values

q11:25600

q22:25600

g33:25600

q44:40000

q55:40000

q66:40000

r11:0.01

r22:0.01

r33:0.01

15

rm2:2

m3:5

rr4:2

5.6

rr6:5

rr7:0.1

8:0.2



9:0.2
rr10:1
rm11:5
p11:32000
p22:32000
p33:32000
t11:4
t12:5

END

CONNECTING SYSTEM conn

"connecting system for articulated robot and adaptive contr

t1[robot]=t1[contr]
t2[robot]=t2[contr]
t3[robot]=t3[contr]
ul[cost]=ul{contr]
u2[cost]=u2(contr]
u3[cost]=u3[contr]
p1[contr]=p1[robot]
p2(contr]=p2[robot]
p3[contr]=p3[robot]
v1[contr]=v1[robot]
v2[contr]=v2[robot]
v3[contr]=v3[robot]
pd1[contr]=pd1[path]
pd2[contr]=pd2[path]

pd3[contr]=pd3([path]
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vd1[contr]=vd1[path]
vd2[contr]=vd2[path]
vd3[contr]=vd3([path]
ad1[contr]=ad1[path]
ad2[contr]=ad2[path]
ad3[contr]=ad3(path]
perr1[cost]=perr1[contr]
perr2[cost]=perr2[contr]
perr3(cost]=perr3[contr]
verr1[cost]=verr1{contr]
verr2[cost]=verr2[contr]
verr3[cost]=verr3[contr]
allcost]=al[robot]
a2[cost]=a2[robot]
a3[cost]=a3[robot]
ad[cost]=a4([robot]
ab[cost]=ab[robot]
abcost]=ab[robot]
a7[cost]=a7[robot]
a8[cost]=a8[robot]
kf1[cost]=kf1[robot]
kf2[cost]=kf2[robot]
kf3[cost]=kf3[robot]
aal[cost]=aal[contr]
aa2(cost]=aa2(contr]
aa3[cost]=aa3[contr]

aad[cost]=aad[contr]
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aab|cost]=aab[contr]
aab|cost]=aab[contr]
aa7[cost]=aa7[contr]
aa8[cost]=aa8[contr]
kff1[cost]=kff1[contr]
kff2[cost]=kff2[contr]
kff3[cost]=kff3[contr]
h1[cost]=h1[robot]
h2[cost]=h2[robot]
h3[cost]=h3[robot]
hd[cost]=h4[robot]

END

22 U UL UV UEWAW TAN1TY

L D

CONTINUOUS SYSTEM robot
"simple SCARA robot

STATE x1 x2 x3 x4 x5 x6
DER dx1 dx2 dx3 dx4 dx5 dx6
INPUT t1 t2 t3

OUTPUT p1 p2 p3 vl v2 v3 al a2 a3 a4 h1 h2 h3 h4
OUTPUT kf1 kf2 kf3

TIME t

"abbreviate notation

s1=sin(x1)

s2=sin(x2)

cl=cos(x1)

c2=cos(x2)
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‘constant parameters
al=((m1/3)+m2+m3)*11*I
a2=((2*m3)+m2)*11*12
a3=((m2/3)+m3)*12*12
ad=m3*g

"inertia matrix elements
h11=al+a2*c2+a3
h12=-(a2*c2/2)-a3
h21=h12

h22=a3

h33=a4/g
delta=(h11*h22)-(h12*h21)
"viscous-friction force
kf1=75

kf2=10

kf3=1

fv1=kf1*x4

fv2=kf2*x5

fv3=kf3*x6

"temporary variable
temp1=(k1*t1)-fv1+(a2*s2*x5*x4)-(0.5%a2*s2*x5*x5)
temp2=(k2*t2)-fv2-(0.5%a2*s2*x4*x4)
temp3=(k3*t3)-fv3+ad
"state equaions

dx1=x4

dx2=x5

dx3=x6



dx4=(1/delta)*((h22*temp1)-(h12*temp2))
dx5=(1/delta)*((h11*temp2)-(h21*temp1))
dx6=temp3/h33

"convert radians to degrees
pp1=((180%7)/22)*x1
pp2=((180*7)/22)*x2
pp3=x3
w1=((180%7)/22)*x4
w2=((180%*7)/22)*x5
w3=x6
aa1=((180%*7)/22)*dx4
aa2=((180%*7)/22)*dx5
aa3=dx6

"output

pl=x

p2=x2

p3=x3

vl=x4

v2=x5

v3=x6

h1=h11

h2=h12

h3=h22

h4=h33

‘nominal values

11:1

[2:1

162



163

m1:10
m2:10
m3:5
k1:40
k2:20
k3:40
g:9.81
x1:0
x2:0
x3:0
x4:0
x5:0
x6:0

END

CONTINUQUS SYSTEM contr

"adaptive controller for SCARA robot

INPUT p1 p2 p3 v1 v2 v3 pd1 pd2 pd3 vd1 vd2 vd3 ad1 ad2 ad3
OUTPUT t1 t2 t3 perr1 perr2 perr3 verr1 verr2 verr3
OUTPUT ul u2 u3 aal aa2 aa3 aad kff1 kff2 kff3
STATE al a2 a3 a4 kf1 kf2 kf3

DER dal da2 da3 da4 dkf1 dkf2 dkf3

"abbreviate notation

cl=cos(p1)

c2=cos(p2)

s1=sin(p1)

s2=sin(p2)
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"errors

perr1=p1-((22*pd1)/(7*180))
perr2=p2-((22*pd2)/(7*180))

perr3=p3-pd3

verr1=v1-((22*vd1)/(7*180))
verr2=v2-((22*vd2)/(7*180))

verr3=v3-vd3

perr1d=((180*7)/22)*perr1
perr2d=((180*7)/22)*perr2

perr3m=perr3

verr1d=((180*7)/22)*verr1
verr2d=((180*7)/22)*verr2

verr3m=verr3
err1=(verr1)+(t12*perr1/t11)
err2=(verr2)+(t12*perr2/t11)
err3=(verr3)+(t12*perr3/t11)

“controller variables
dar1=((22*vd1)/(7*180))-((t12*perr1)/t11)
dqr2=((22*vd2)/(7*180))-({t12* perr2)/t11)
dqr3=vd3-((t12*perr3)/t11)
ddqr1=((22*ad1)/(7*180)-((t12*verr1)/t11)
ddqr2=((22*ad2)/(7*180))-((t12*verr2)/t11)
ddqr3=ad3-((t12*verr3)/t11)

Y11=ddqr1
y12=c2*ddqr1-0.6*(c2*ddqr2+s2*v2*dqr1+s2*v1 *dqr2-s2*v2*dqr2)
y13=ddqr1-ddqr2

y22=0.5%(s2*v1*dqr1-c2*ddqr1)
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y23=ddqr2-ddaqr1

y34=(ddqr3/g)-1

‘adaptive equations
dal=-(r1*t11*t11*(y11%err1))
da2=-(r2*t11*t11*(y12*err1+y22*err2))
da3=-(r3*t11*t11*(y13*err1+y23*err2))
dad=-(r4*t11*t11*(y34*err3))
dkf1=-(r5*t11*t11*v1*err1)
dkf2=-(r6*t11*t11*v2*err2)
dkf3=-(r7*t11*t11*v3*err3)

‘output

ul=(kv1*verrl)+(kp1*perrl)
u2=(kv2*verr2)+(kp2*perr2)
u3=(kv3*verr3)+(kp3*perr3)
t1=(y11*al+y12*a2+y13*a3+kf1*v1-ul)/k1
t2=(y22*a2+y23*a3+kf2*v2-u2)/k2
t3=(y34* a4 +kf3*v3-u3)/k3

aal=al

aa2=a2

aa3=a3

aad=ad

kff1=kf1

kff2=kf2

kff3=kf3

‘nominal values

r1:0.5

r2:0.5
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r3:0.2
r4:5

r5:5

r6:1
r7:0.2
t11:4
t12:6
kv1:1600
kv2:1600
kv3:1600
kp1:2000
kp2:2000
kp3:2000
k1:40
k2:20
k3:40
g:9.81

END

CONTINUOUS SYSTEM path

"Path generation for SCARA robot

OUTPUT pd1 pd2 pd3 vd1 vd2 vd3 adl ad2 ad3
TIME t

pd1=30*(1-COS(2*22*Y/7))
pd2=30*(1-COS(2*22*t/7))
pd3=1*(1-COS(2*22*/7))

vd1=(30%*2*22/7)*SIN(2*22*t/7)
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vd2=(30%*2*22/7)*SIN(2*22*4/7)
vd3=(1*2*22/7)*SIN(2*22*Y/7)
ad1=(30%(2*22/7)*(2*22/7))*COS(2*22*Y/7)
ad2=(30%*(2*22/7)*(2*22/7))* COS(2*22*t/7)
ad3=(1*(2*22/7)*(2*22/7))*COS(2*22*/7)

END

CONTINUOUS SYSTEM cost
"performance index for SCARA robot
INPUT perr1 perr2 perr3 verrl verr2 verr3 ul u2 u3 h1 h2 h3 h4
INPUT al a2 a3 a4 aal aa2 aa3 aa4
INPUT kf1 kf2 kf3 kff1 kff2 kff3
STATE x

DER dx

TIME t

"temporary variable
tem1=g11*SQR(verr1)
tem2=g22*SQR|(verr2)
tem3=g33*SQR(verr3)
tem4=q44*SQR(perr1)
temb=g55*SQR(perr2)
tem6=g66*SQR(perr3)
tem7=r11*SQR(u1)
tem8=r22*SQR(u2)
tem9=r33*SQR(u3)
error1=(t11*verr1)+(t12*perr1)

error2=(t11*verr2)+(t12*perr2)



err9r3=(t1 1*verr3)+(t12*perr3)
dif1=rr1*SQR(aal-al)
dif2=rr2*SQR(aa2-a2)
dif3=rr3*SQR(aa3-a3)
dif4=rr4*SQR(aa4-a4)
dif6=rr5*SQR(kff1-kf1)
dif6=rr6* SQR(kff2-kf2)
dif7=rr7*SQR(kff3-kf3)
dif8=h1*SQR(error1)
dif9=h3*SQR(error2)
dif10=h4*SQR(error3)
dif11=2*h2*error1*error2
dif12=p11*SQR(perr1)
dif13=p22*SQR(perr2)

dif14=p33*SQR(perr3)

templ=tem1+tem2+tem3+tem4+temb+tem6+tem7+tem8+tem9
temp2=(dif1 +dif2+dif3+dif4+dif5+dif6+dif7)
temp3=(dif8+dif9+dif10+dif11+dif12+dif13+dif14)

"sum and integrate of cost functions

dx=temp1
sum=temp2+temp3
‘nominal values
q11:25600
q22:25600
g33:25600
q44:40000

q55:40000
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q66:40000
r11:0.01
r22:0.01
r33:0.01
ml:2

m2:2

rm3:5
rr4:0.2
rr5:0.2
rmé:1

rm7:5
p11:32000
p22:32000
p33:32000
t11:4
t12:5

END

CONNECTING SYSTEM conn

"connecting system for SCARA robot and adaptive contr
t1[robot]=t1[contr]

t2[robot]=t2[contr]

t3[robot]=t3[contr]

ul[cost]=ul[contr]

u2(cost]=u2[contr]

u3[cost]=u3[contr]

pl1{contr]=p1(robot]



p2[contr]=p2[robot]
p3[contr]=p3[robot]
v1[contr]=v1[robot]
v2[contr]=v2[robot]
v3[contr]=v3[robot]
pd1[contr]=pd1[path]
pd2[contr]=pd2[path]
pd3[contr]=pd3[path]
vd1[contr]=vd1[path]
vd2[contr]=vd2[path]
vd3[contr]=vd3[path]
ad1[contr]=ad1[path]
ad2[contr]=ad2[path]
ad3[contr]=ad3([path]
perr1[cost]=perr1[contr]
perr2[cost]=perr2[contr]
perr3[cost]=perr3[contr]
verr1[cost]=verr1[contr]
verr2[cost]=verr2[contr]
verr3[cost]=verr3[contr]
al[cost]=al[robot]
a2[cost]=a2(robot]
a3[cost]=a3[robot]
ad[cost]=a4[robot]
kf1[cost]=kf1[robot]
kf2[cost]=kf2[robot]

kf3[cost]=kf3[robot]
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aal[cost]=aal[contr]
aa2[cost]=aa2[contr]
aa3[cost]=aa3[contr]
aad[cost]=aa4[contr]
kff1[cost]=kff1[contr]
kff2[cost]=kff2[contr]
kff3[cost]=kff3[contr]
h1[cost]=h1[robot]
h2[cost]=h2[robot]
h3[cost]=h3[robot]
h4[cost]=h4[robot]

END
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CONTINUOUS SYSTEM robot
"simple Spherical robot

STATE x1 x2 x3 x44R5 x6

DER dx1 dx2 dx3 dx4 dx5 dx6
INPUT t1 t2 t3

OUTPUT p1 p2 p3 v1 v2 v3 al a2 a3 a4 a5 a6 h1 h2 h3
OUTPUT kf1 kf2 kf3

TIME t

"abbreviate notation

s1=sin(x1)

s2=sin(x2)

cl=cos(x1)

c2=cos(x2)



"constant parameters

I=11-12+Ic2

al=j1+4j2+Mm1*lc1*lc)+(m2*1*)

a2=m2*|

a3=m2

ad=j1p+j2p

ab=j3

ab=m1*lc1

‘inertia matrix elements
h11=al+(2*a2*x2)+(a3*x2*x2)

h22=a3
h33=(al+2*a2*x2+a3*x2*x2)*s1*s1+(ad*c1*c1)+ab
"viscous-friction force

kf1=75

kf2=10

kf3=1

fv1=kf1*x4

fv2=kf2*x5

fv3=kf3*x6

"temporary variable

temp11=(k1*t1 )-fv1-(a2*x5*x4)-(a3*x2*x5*x.4)-(a2*x4*x5)
temp12=(al+2*a2*x2+a3*x2*x2-a4)*s1*c1*x6*x6-(a3*x2*x4*x5)
temp13=(ab+a2+a3*x2)*s1*g
temp21=(k2*12)-fv2+(a2*x4* x4)+(a3*x2*x4* x4)
temp22=(a2*s1*s1*x6*x6)+(a3*x2*s1*s1*x6*x6)
temp23=-(a3*c1*g)

temp31=(k3*t3)-fv3-(a1+2*a2*x2+a3*x2*x2-a4)*s1*c1*x6* x4
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temp32=-(a2*s1*s1*x6*x5+a3*x2*s1*s1*x6*x5
temp33=-((a1+2*a2*x2+a3*x2*x2-a4)*s1*c1*x4*x6)
temp34=-(a2*s1*s1*x56*x6+a3*x2*s1*s1*x56*x6
temp1=temp11+temp12+temp13
temp2=temp21+temp22+temp23
temp3=temp31+temp32+temp33+temp34
"state equaions

dx1=x4

dx2=x5

dx3=x6

dx4=temp1/h11

dxb=temp2/h22

dx6=temp3/h33

“convert radians to degrees
pp1=((180*7)/22)*x1

pp2=x2

pp3=((180*7)/22)*x3

vw1=((180*7)/22)*x4

vw2=xb

w3=((180%7)/22)*x6

aal1=((180*7)/22)*dx4

aa2=dxb

aa3=((180%7)/22)*dx6

‘output

pl=x1

p2=x2

p3=x3
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vi=x4
v2=x5
v3=x6
h1=h11
h2=h22
h3=h33
"nominal values
11:1

12:1
Ic1:0.5
Ic2:0.5
m1:10
m2:10
j1:0.5
j1p:0.01
j2:0.5

j2p:0.01

k1:40
k2:20
k3:40
g:9.81
x1:0
x2:0
x3:0
x4:0

xb:0
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x6:0

END

CONTINUOUS SYSTEM contr

"adaptive controller for spherical robot

INPUT p1 p2 p3 v1 v2 v3 pd1 pd2 pd3 vd1 vd2 vd3 adl ad2 ad3
OUTPUT t1 t2 t3 perr1 perr2 perr3 verr1 verr2 verr3
OUTPUT ul u2 u3 aal aa2 aa3 aa4 aab aab kif1 kff2 kff3
STATE al a2 a3 a4 ab a6 kf1 kf2 kf3

DER dal da2 da3 da4 da5 da6 dkfl dkf2 dkf3
"abbreviate notation

cl=cos(p1)

c2=cos(p2)

s1=sin(p1)

s2=sin(p2)

‘errors

perr1=p1-((22*pd1)/(7*180))

perr2=p2-pd2

perr3=p3-((22*pd3)/(7*180))
err1=v1-((22*vd1)/(7*180))

err2=v2-vd2

verr3=v3-((22*vd3)/(7*180))
perr1d=((180%*7)/22)*perr1

perr2m=perr2

perr3d=((180%*7)/22)*perr3

verr1d=((180*7)/22)*verr1

verr2zm=verr2



verr3d=((180*7)/22)*verr3

errl=(verr1)+(t12*perr1/t11)

err2=(verr2)+(t12*perr2/t11)

err3=(verr3)+(t12*perr3/t11)

"controller variables

dqr1=((22*vd1)/(7*180))-((t12*perr1)/t11)

dqr2=vd2-((t12*perr2)/t11)

dqr3=((22*vd3)/(7*180))-((t12*perr3)/t11)
ddqr1=((22*ad1)/(7*180))-((t12*verr1)/t11)

ddgr2=ad2-((t12*verr2)/t11)

ddqr3=((22*ad3)/(7*180))-((t12*verr3)/t11)

y11=ddqr1-(s1*c1*v3*dqr3)
y12=2*p2*ddqr1+v2*dqr1+v1*dquQ*p2*31*c1*v3*dqr3s1*g
templ=p2*s1*g
y13=p2*p2*ddqr1+p2*v2*dqr1+p2*v1*dqupZ*p2*s1*c1*v3*dqr34ewm1
y14=s1*c1*v3*dqr3

y16=-s1*g

y22=-(v1*dqgr1+s1*s1*v3*dqr3)
y23=ddqr2-p2*v1*dqr1-p2*s1*s1*v3*dqr3+cl*g
y31=s1*s1*ddqr3+s1*c1*v3*dqr1+s1*cl*v1*dqr3
temp2=2*p2*s1*c1*v1*dqr3+s1*s1*v2*dqr3
y32=2*p2*s1*s1*ddqr3+2*p2*s1*c1*v3*dqr1+s1*s1*v3*dqr2+ten1p2
temp3=p2*p2*s1*c1*v1*dqr3+p2*s1*s1*v2*daqr3
y33=p2*p2*51*s1*ddqr3+p2*p2*s1*c1*v3*dqr1+p2*s1*s1*v3*dqr2+ten1p3
y34=c1*c1*ddqr3-s1*c1*v3*dqr1-s1*c1*v1*dqr3

y35=ddqr3

"adaptive equations
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dal=-(r1*t11*t11*(y11*err1+y31*err3))
da2=-(r2*t11*t11*(y12*err1+y22*err2+y32*err3))
da3=-(r3*t11*t11*(y13*err1+y23*err2+y33*err3))
dad=-(r4*t11*t11*(y14*err1+y34*err3))
dab=-(r5*t11*t11*(y35*err3))
dab=-(r6*t11*t11*(y16*err1))
dkf1=-(r7*t11*t11*v1*err1)
dkf2=-(r8*t11*t11*v2*err2)
dkf3=-(r9*t11*t11*v3*err3)

"output

ul=(kv1*verrl)+(kp1*perr1)
u2=(kv2*verr2)+(kp2*perr2)
u3=(kv3*verr3)+(kp3*perr3)
t1=(y11*al+y12*a2+y13*a3+yl14*ad+y16*ab+kf1*v1-ul)/k1
t2=(y22*a2+y23*a3+kf2*v2-u2)/k2
t3=(y31*al+y32*a2+y33*a3+y34*ad4+y35*ab+kf3*v3-u3)/k3
aal=al

aa2=a2

aa3=a3

aad=a4

aab=ab

aab=ab

kff1=kf1

kff2=kf2

kff3=kf3

‘nominal values

g:9.81
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r1:0.2
r2:0.2
r3:0.5
r4:0.01
r5:0.1
r6:0.2
r7:5

r8:1
r9:0.2
t11:4
t12:5
kv1:1600
kv2:1600
kv3:1600
kp1:2000
kp2:2000
kp3:2000
k1:40
k2:20
k3:40

END

CONTINUOUS SYSTEM path

"Path generation for sphericl robot

OUTPUT pd1 pd2 pd3 vd1 vd2 vd3 ad1 ad2 ad3
TIME t

pd1=30*(1-COS(2*22*/7))
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pd2=0.5*(1-COS(2*22*t/7))
pd3=45*(1-COS(2*22*1/7))
vd1=(30%2*22/7)*SIN(2*22*/7)
vd2=(0.5*2*22/7)*SIN(2*22*Y/7)
vd3=(45*2*22/7)*SIN(2*22*Y/7)
ad1=(30%(2*22/7)*(2*22/7))* COS(2*22*1/7)
ad2=(0.5%(2*22/7)*(2*22/7))* COS(2*22*1/7)
ad3=(45*%(2*22/7)*(2*22/7))* COS(2*22*Y/7)

END

CONTINUOUS SYSTEM cost

"performance index for sphericl robot

INPUT perr1 perr2 perr3 verr1 verr2 verr3 ul u2 u3 h1 h2 h3
INPUT a1 a2 a3 a4 ab ab aal aa2 aa3 aa4 aab aab
INPUT kf1 kf2 kf3 kff1 kff2 kff3

STATE x

DER dx

TIME t

“temporary variable

tem1=g11*SQR(verr1)

tem2=q22*SQR(verr2)

tem3=g33*SQR(verr3)

tem4=q44*SQR(perr1)

tem5=055*SQR(perr2)

tem6=q66*SQR(perr3)

tem7=r11*SQR(u1)

tem8=r22*SQR(u2)
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tem9=r33*SQR(u3)
error1=(t11*verr1)+(t12*perr1)
error2=(t11*verr2)+(t12*perr2)
error3=(t11*verr3)+(t12*perr3)
dift=rr1*SQR(aal-al)

dif2=rr2*SQR(aa2-a2)

dif3=rr3*SQR(aa3-a3)

dif4=rr4* SQR(aad-ad)

dif5=rr56*SQR(aab-ab)

dif6=rr6*SQR(aa6-ab)

dif7=rr7*SQR(kff1-kf1)

dif8=rr8* SQR (kff2-kf2)

dif9=rr9* SQR(kff3-kf3)

dif10=h1*SQR(error1)

dif11=h2*SQR(error2)

dif12=h3*SQR(error3)

dif13=p11*SQR(perr1)

dif14=p22*SQR(perr2)

dif15=p33*SQR(perr3)
temp1=tem1+tem2+tem3+tem4d+tem5+tem6B+tem7+tem8+temS
temp2=(dif1+dif2+dif3+dif4+dif5+dif6+dif7+dif8)
temp3=(dif9+dif10+dif11+dif12+dif13+dif14+dif15)
"sum and integrate of cost functions

dx=temp1

sum=temp2+temp3

"nominal values

q11:25600
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g22:25600
g33:25600
q44:40000
q55:40000
q66:40000
r11:0.01
r22:0.01
r33:0.01
rm1:5

m2:5

r3:2
rr4:100
r5:10
r6:5
rr7:0.2
r8:1

m9:5
p11:32000
p22:32000
p33:32000
t11:4
t12:5

END

CONNECTING SYSTEM conn
"connecting system for spherical robot and adaptive contr

t1{robot]=t1[contr]



t2[robot]=t2[contr]
t3[robot]=t3[contr]
ul[cost]=ul[contr]
u2[cost]=u2[contr]
u3[cost]=u3[contr]
p1lcontr]=p1[robot]
p2[contr]=p2[robot]
p3[contr]=p3[robot]
v1[contr]=v1[robot]
v2[contr]=v2[robot]
v3[contr]=v3[robot]
pd1[contr]=pd1[path]
pd2[contr]=pd2[path]
pd3[contr]=pd3(path]
vd1[contr]=vd1[path]
vd2[contr]=vd2[path]
vd3[contr]=vd3[path]
ad1[contr]=ad1[path]
ad2[contr]=ad2[path]

ad3(contr]=ad3[path]

perr1{cost]=perr1[contr]
perr2[cost]=perr2[contr]
perr3[cost]=perr3[contr]
verr1{cost]=verri{contr]
verr2[cost]=verr2{contr]

verr3[cost]=verr3[contr]

allcost]=al[robot]
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a2[cost]=a2[robot]
a3[cost]=a3[robot]
ad[cost]=a4[robot]
ab[cost]=ab(robot]
ab[cost]=ab[robot]
kf1[cost]=kf1[robot]
kf2[cost]=kf2[robot]
kf3[cost]=kf3[robot]
aal[cost]=aal[contr]
aa2[cost]=aa2(contr]
aa3[cost]=aa3[contr]
aa4[cost]=aa4[contr]
aab[cost]=aab[contr]
aab|cost]=aab|contr]
kff1[cost]=kff1[contr]
kff2[cost]=kff2[contr]
kff3[cost]=kff3[contr]
h1[cost]=h1[robot]
h2[cost]=h2[robot]
h3[cost]=h3[robot]

END
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